HAGS

UniPlay Snaky

wooden post
42077120

o © Playpowerinc UniPlay Snaky Rev: 2
HAGS' [ 42077120 ooerz3 7



—

-

»
>

200mm

»
I

»

I

45mm 280mm

145mm

A
Y

1.50m

\
/

\
Fj 0.42m

A ° E@Playﬁowerinc UniPlay Snaky Rev: 2
HAGS' 5zemesr 4207720 ovoas 217



1 33-05390 / 1x  196x26x37 0.05kg 13 8050050 @ 2x Washer ISO7089-10.5x20x2 0.004kg
( T 1\
S20 !
2 sooasis 2x thctocmm WOODEN DECK :
|
|
\ &
db
3  32-05587 1x  550x1500x1550mm 13,3kg Py :
2 x 0.5
A J
4 SW42856 @ 2x  530x240 mm 5.40kg & >
5 8039294 ﬁ 2x Screw, ISO8677-M10x50-8.8 0.044kg &
6  32-05395 Ji 1x  231x42x557mm 0.25kg
7 33-05371 1x 620x121x21 mm 2.18kg
8 8008754 2x  Nut, DIN986-M10-8 0.015kg
9 8008472 2x Screw, 1ISO4762-M8x25-8.8 0.017kg —
10 8008371 2x Screw, 1ISO4017-M10x25-8.8 0.0263kg
11 SW99892 1x  230x30mm 0.12kg
12 8008815 2x  Nut, cage M10-t=1.8-3.2 0.005kg
H GSO SPIa@VEOWerinc UniPlay Snaky Rev: 2
A ags@hags.com
vvvgvv.hagsg.com 42077120 01/08/23 3/7




MA420994

(s10
!'
mm

a1

X2

A ° E@Playﬁowerinc UniPlay Snaky Rev: 2
HAGS' 5zemesr 4207720 ovoas e



Rev: 2

UniPlay Snaky

42077120

5/7

01/08/23

» © Playpower inc
HAGS \?/avgvsvhggscomm



( T N\
1 33-05390 / 1x  196x26x37 0.05kg STEEL/HPL DECK S0
|
&
|
Washer, Bolt cap 11x24x2- !
2 8008850 ax e 0.006kg db |
2 x 0.5
\ J
5 32-05587 A\KR 1x  550x1500x1550mm 13,3kg B
G
4 SW42856 2x  530x240 mm 5.40kg
&
5 8008451 2x Screw, ISO7380-1-M10x20-10.9 0.019%g
6  32-05395 Ji 1x  231x42x557mm 0.25kg N
7 33-05371 1x  620x121x21 mm 2.18kg )
8 8008754 2x  Nut, DIN986-M10-8 0.015kg
9 8008472 2x  Screw, 1SO4762-M8x25-8.8 0.017kg
10 8050050 2x  Washer ISO7089-10.5x20x2 0.004kg
11 8008371 2x Screw, 1ISO4017-M10x25-8.8 0.0263kg
12 8008815 2x  Nut, cage M10-t=1.8-3.2 0.005kg
° E}@ Playﬁowerinc UniPlay Snaky Rev: 2
ags@hags.com
HAGS' rssen 42077120 01/08/23 6/7

www.hags.com




MA420994

717

Rev: 2
01/08/23

UniPlay Snaky

42077120

» © Playpower inc
HAGS' e



